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We obtain the sufficient contitions of the asymptotic uniformely stochastic stability of a trivial
solution of the Cauchy problem for the stochastic differential-difference Ito-Skorokhod equation
with many constant delays.

�������� �������� ��� ! ��!�"���!#��$ �� ������� ���%���!#��$ ���&'���� ��! ��()��*� ��+,
 -.+'� +���#� ��/� �(. ���%���!#��*� �!0����1��()��,��+�!1� �*� �� �.��. ���,�'���%��� +
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'� ��(�)� ������� �������� � �!"�#����#$ ����#!���#  �#%� ����#$  ����
�# �� ������# � !#�#&��'�$ (�#�#%#)� *�+�	 ,�%!��� -�.� /�0� �1�  �#%� ���
���% )�'�������1���#�'�����#��1���% ������� �� "������ �����1# � 2���#�
��! 3�4� /�0� � )���� �#5#�� �#6&1����# 5�1�7 7��#��� �1�  �#%� �����%  ��
 ��! .�#�(�#�#%#)��

*� �+�(��+�	� ,�-�.�� 8�%�� �� �!#����� �#!� 5�6� � (Ω,F,F := {Ft, t ≥
t0},P) 6�)��# ��"�)�#��� "�#�� x(t) ∈ Rn )1� t ≥ t0 ≥ 0	 �� �#6�9�6#�  � ��!�
 �#%� �����% )�'�������1��#���6������% ������� 6 "��  #�#��!� "���!�������
!� � 6 5�&���!�  ��1�!� 6�&�:�����!� /�0

dx(t) =
k∑

i=1

ai(t, x(t), x(t−Δi))dt+

+
l∑

j=1

⎡⎣bj(t, x(t), x(t−Δj))dwj(t) +

∫
U

cj(t, x(t), x(t−Δj), u)ν̃j(du, dt)

⎤⎦ , ∀t ≥ t0,

���
6 "#����#��!� �!#��!�

x(t)|t∈[−Δ,0] = ϕ(t, ω) ∈ D, ���

)� Δ ≡ sup
i,j

(Δi,Δj)	 i = 1, k, j = 1, l; �#�'���<��� ai : R+ × Rn × Rn → Rn,

bj : R+ ×Rn ×Rn → Mn(R
n) = n × n � !������	 cj : R+ ×Rn ×Rn × U → Rn

��"������� 6� � �!� ��&�!����!�; wj(t) ≡ wj(t, ω) ∈ Rn = "#"���#���6�1�>��
�����#�� "�#�� �; ν̃j(du, dt) ≡ νj(du, dt)− dtΠ(du) =  ��1���� "#"���#���6�1�>��
�����#���� "��  #�#�� !���	 tΠ(A) =

∫
A

dudt
|u|n+1 < ∞ /?0	 /@0	 "���#!� wi �� ν̃j =

"#"���#���6�1�>��; D ≡ D([−Δ, 0],Rn) = "�# ��� (�#�#%#)� ��"�������%  "���
�� '������	 ��� !�:�� 1��# �#�#��� &������ /?0�

�/0� '� ��� �����	
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k∑
i=1

∣∣ai(t, x1, y1)− ai(t, x
2, y2)

∣∣+ l∑
j=1

∥∥bj(t, x1, y1)− bj(t, x
2, y2)

∥∥+

+

∫
U

∣∣cj(t, x1, y1, u)− cj(t, x
2, y2, u)

∣∣Π(du) ≤ L
(|x1 − y1|+ |x2 − y2|) ,

�� L > 0 � ������ �	���� ∀x1, x2, y1, y2 ∈ D�

�� ������ 	
�� �
��� �����
����! �"
�#����	� �� t$

%����

&� ����'� (��� )&*� )�* 
�  ����� � 	�'���	� �� �	�+��	�'��! ���������,
	���	� ����-���� x(t) ∈ Rn� ∀t ∈ [0, T ] � ����	��� .����+��� D�

�� ������ 	
�� ������

E

{
sup

t0≤t≤T
|x(t)|2

}
≤ NE

{
sup

−Δ+t0≤t≤t0
|ϕ(t)|2

}
,

�	��� N �� ����#�	
 ��� �	���! ������� L � T > 0$

������ �����	
���
� �
 t0 = 0 � ��� ��������� 	�
������
�
 �
������� �
�
�	��
 ���� ���

ai(t, 0, 0) ≡ 0; bj(t, 0, 0) ≡ 0n×n; cj(t, 0, 0, u) ≡ 0.

����� ���	���� 	���������  !"#

���� �� /�+���

&� ������ �����- 
��� ���������� ������ ξ(t) ≡ ξ(t, ω) ∈ Rn � ����	���
.����+��� D�

�� ��� �����
���� ���"�		�

0 = t0 < t1 < t2 < ... < tn−1 < tn = T

	� �
������ 
�	�
�	�'���� ���������� �������� ��������	


E {ξ(tn)|σ(ξ(t0), ξ(t1), ..., ξ(tn−1))} ≤ ξ(tn−1).

%��� ��� ∀C > 0 
� 
���� ��������	


P

{
sup

0≤t≤T
ξ(t) > C

}
≤ 1

C
Eξ(0).
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�����
���	� ��������� x(t) ≡ 0 ���
��
�� ���� ��� � ���
������ ����� � ! " �#!$

��������� �� ��������	�
 ����
���� x(t) ≡ 0 ������� ���� ��� 	������
���	����	� ���������	� ���
���� ���� ��� ∀εi > 0, i = 1, 2 ��	�� ���� δ > 0�
�� ���

E

{
sup

−Δ≤t≤0
|ϕ(t)|

}
≤ δ, �%�

����	������ 	����	���� P {|x(t)| ≤ ε2} ≥ 1− ε1, ∀t ∈ [0;T ].

��������� �� ��������	�
 ����
���� ������ ���� ��� x(t) ≡ 0 ������� 
���	� ���	����	� ���������	� ���
��
� ���� ��	 ���������	� ���	����	�
���
��
 ���	���		� �� ��

P
{
lim
t→∞

|x(t)| = 0
}
= 1.

������� �� !�� ����	�		� ���� ���� � ������	��" �����" ��������� 
�	�# ���	����	� ���������	�# ���
����� ��������	�$� ����
���� ������ %�&�
���� ��� � ����	�		� 	� ����
����� ������� 	����	����

F (t, x(t), k, l) := 2
k∑

i=1

x′(t)ai(t, x(t), x(t−Δi))+

+
l∑

j=1

[
Spbj(t, x(t), x(t−Δj))b

′
j(t, x(t), x(t−Δj))+

+

∫
U

|cj(t, x(t), x(t−Δj), u)|2Π(du)
]
≤ −fΔ(xt), �&�

�� f : D → R1 ' �����	� ���	���	�
 	�������	�
 �� �(��)�	�
 *�	�+��	��
	� ��������� ���������# xt ≡ x(t + θ)� −Δ ≤ θ ≤ 0� Δ ≡ sup

1≤i≤k,1≤j≤l
{Δi,Δj}�

����
� �� � f(ϕ) ≡ 0 �������� ϕ(θ) ≡ 0, -&����- ' �����+�� ���	���	���		�.

���������� '��	
����� ����� ���������� ���(�� �� ������
 ����
� ����
������ ������ ���� ���)

z(t) = |x(t)|2 ≡
n∑

i=1

x2
i (t).

*�+����(��
 dz(t) �� ��	�
���, ������, -
� ��!� �&! .��� ��
� ��	
��

dz(t) = 2
k∑

i=1

x′(t)ai(t, x(t), x(t−Δi))x(t)+

+
l∑

j=1

Spbj(t, x(t), x(t−Δj))b
′(t, x(t), x(t−Δj))+
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+

∫
U

[
|x(t) + cj(t, x(t), x(t−Δj), u)|2−

−|x(t)|2 − 2(x(t) + cj(t, x(t), x(t−Δj), u))

]
Π(du)+

+2x′(t)b(t, x(t), x(t−Δj))dwj(t)+

+

∫
U

{|x(t) + cj(t, x(t), x(t−Δj), u)|2 − |x(t)|2
}
ν̃(du, dt) =

= 2
k∑

i=1

x′(t)ai(t, x(t), x(t−Δj))+

+
l∑

j=1

[
Spbj(t, x(t), x(t−Δj))b

′
j(t, x(t), x(t−Δj))+

+

∫
U

|cj(t, x(t), x(t−Δj), u)|2Π(du)
]
.

��������� �� �	
����
�	�� ����� ������ ������	��� �
����
��	��� ������	���
�
� dz(t) � �������
���� ����� �� ! � ����
�
�
� �������� 	����	��
� �
" t→ Δ

z(t) ≤ |ϕ(0)|2 + 2
k∑

i=1

t∫
Δ

x′(τ)ai(τ, x(τ), x(τ −Δi))dτ+

+
l∑

j=1

[ t∫
Δ

Spbj(τ, x(τ), x(τ −Δj))b
′
j(τ, x(τ), x(τ −Δj))dτ+

+

∫
Δ

∫
U

|cj(τ, x(τ), x(τ −Δj), u)|2Π(du)dτ
]
+

+2
l∑

j=1

[ t∫
Δ

x′(τ)bj(τ, x(τ), x(τ −Δj))dwj+

+

∫
Δ

∫
U

x′(τ)cj(τ, x(τ), x(τ −Δj), u)ν̃j(du, dτ)+

+
1

2

t∫
Δ

∫
U

|cj(τ, x(τ), x(τ −Δj), u)|2ν̃j(du, dτ)
]
≤

≤ |ϕ(0)|2 −
t∫

Δ

fΔ(xτ )dτ + β(t) + γ,
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γ ≡ 2
k∑

i=1

[ Δ∫
0

x′(τ)ai(τ, x(τ), x(τ −Δi))dτ

]
+

+
l∑

j=1

[ Δ∫
0

Spbj(τ, x(τ), x(τ −Δj))b
′
j(τ, x(τ), x(τ −Δj))dτ+

+

t∫
Δ

∫
U

|cj(τ, x(τ), x(τ −Δj), u)|2Π(du)
]
;

β(t) ≡
l∑

j=1

[
2

t∫
0

x′(τ)bj(τ, x(τ), x(τ −Δj))dwj(τ)+

+2

t∫
0

∫
U

x′(τ)cj(τ, x(τ), x(τ −Δj), u)ν̃j(du, dτ)+

+

t∫
0

∫
U

|cj(τ, x(τ), x(τ −Δj), u)|2ν̃j(du, dτ)
]
.

�� 
������� ���
	��� ���������� ����	���
�� ��������� �����	������ ����
������ ������� ���� � �! "	 ������	�� [0, T ] ��#�	 �������� �$���� % & ��� γ'

|γ| ≤ C1 sup
0≤t≤Δ

{
K0|x(τ)|2 + L0|x(τ)||ϕ(τ −Δ)|+ L0|ϕ(τ −Δ)|2} ;

E
{|γ|2} ≤ C2 sup

0≤τ≤Δ
|ϕ(τ)|;

�� C1 �	��#��� ��� ��	��( )��*�$� L� 	 C2 + ��� ��	��( )��*�$� L �	 K!

,�#�� ∀ε > 0 ∃δ1 ≡ δ1

(
sup

0≤τ≤Δ
|ϕ(τ)|2

)
> 0 �	��� -� P

{|γ| ≤ ε
2

} ≥ 1 − 2δ1
ε
.

,������� β(t) . �	�����	��� %�& �	 ���������� -� �	��������. ���������� |β(t)| >
> |ϕ(0)|2� �� ∀t ∈ [0, T ] �	 ����/  �	. ���$� ����������

ε

2
≤ P

{
sup

t∈[0,T ]

(|β(t)|+ |ϕ(0)|2) < ε

}
≤ 2|ϕ(0)|2

ε
.

0�	����/
� ��-� ����#	�� �$����� �	������

P

{
ω : sup

t∈[0,T ]

|x(t)|2 ≤ ε

}
≤ P

{
|γ(t)|2 > ε

2

}
+

+P

{
sup

t∈[0,T ]

(|β(t)|2 + |ϕ(0)|2) ≥ ε

2

}
≤ δ1

ε
. �1�
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��� �� �� ��	
���	�
 �� �� �������

�� �������	 
� ����
���� x(t) ≡ 0 ������� ���	 ��� ����������� ���������� �����
��� �� ���������� ��

��� ��������� ���� �������! ���������� �����������! ��������� ����
���"
x(t) ≡ 0 ������� ���	 ����

�� �������#$�� ��������% lim
t→∞

x(t) = 0 �� ω����&���	 ����������� ���� ���!

����� �	 ��
� sup
−Δ≤τ≤0

|ϕ(τ)| �� ���'���� (#��$��� �� )� ������	 ω����&��� � �*�

������#$��� +% "���"	 � ����,

|x(t)|2 ≤ |ϕ(0)|2 + γ −
t∫

0

fΔ(xτ )dτ + β(t) ≤ ε−
t∫

0

fΔ(xτ )dτ. �-�

.��� ������� ���������� �-� �������	 ���" ����'��#  ����! ������� �-�  ������
�(�'����� �� "����% �� ������� �� /�&�	 � ��#" �� ���������� 0"��+����#�
fΔ(xτ ) lim

t→∞
x(t) = 0	 (� lim

τ→∞
fΔ(xτ ) = 0	 
� �����1"� ��������� ������� ��

������� �� ����� ���	� 
�� 
������ � 	������
��� �� ���	������ x(t)
���
��� 
��� 
�� � ��� ����� 	������
��� ����	���
�

|x(t− τ)|2 < α|x(t)|2, �2�

�� 0 ≤ τ ≤ Δ� α > 1�  ��� ���	����� x(t) ≡ 0 ����!� "�#� 
��� 
�� �����
�
�!��
��	������� �
����
�!�� �
������

���������� �� ��������� ���������� �����������! ��������� ������#$��'�
����
���" x(t) ≡ 0 ������� ���	 ����

3�(����� ∀ε > 0 � ���'#����� ω����&��"

Bε ≡
{
ω : |γ(t)| ≤ ε

2

}
∩
{
ω : sup

t∈[0,T ]

|β(t)| < ε

2

}
.

�������� ������#������ ��������% � 0���, ��
� x(t) �#� ω ∈ Bε  ���� ��
�� ��"'� |x(t)| < δ	 �� x(t) !! ����#� �� ��#�1��$�

������	 ����� ∀η > 0 ���"� δ > 0	 
� � ���������� sup
τ∈[−Δ,0]

|ϕ(τ)| < δ �� #����

P {Bε} ≥ 1 − η(δ)� 4��� �� "����% �5� �������� sup
t∈[0,T ]

|x(t)|2 < ε �� ���������!	

��� ������#$��� ���������$ |x(t− τ)|2 < α|x(t)|2	  �����" lim
δ→∞

η(δ) = 0�

6���� �������$�� ���� ( ���� ���������� y(t) ������� ���	 ��� �#� ���!
sup
t≥0
|y(t)| > ε �� ω����&��� Bε� 4��� �  ��1�� ������ �����" � ε���"'� ���

������ ���������$ |y(t∗ − τ)|2 < |y(t∗)|2, ∀τ ∈ [0, t∗]� 7� ����������	 
� � ���
���� ���" t∗ ����������� �� ������ �� "���� �2�� /���&�#�  ���������	 ��(��
������#$��� ����
���� ������� ��� ���������� ����������� ��������

��� ��������� ���� �������! ���������� ���� �������! ��������� ����
���"
x(t) ≡ 0 ������ ���	 ���� 8�������� ����� δ0 > 0 �������#$��� �����$ ��� ����
����� ���������� ��������$�� �#� t ≥ 0 �� ω ∈ Bε�

9�
� ����� �����$ ���"� �#� ����#$��'� ����
���" x(t) ������ ���	 ���	 ��
x(t) ≡ 0 ���� ������� �������� ��#� ����"����� ��� �" �������'�� ���"� δ0 > 0	
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��� ��������	
� ���
����� � � � ���

��� ∀η > 0 ����� T > 0 	�
�� �
 ����� �
�����

 ���� ��� ���
�
����� ��������	�
|x(T + τ)|2 < δ20 + η, ∀ω ∈ Bε � τ > 0� ��������
 η = δ20(α − 1) 	�
��� �
��
δ20+η

δ20
|x(T + τ)|2 > δ20 + η > |x(T + τ − τ1)|2� �� 0 ≤ τ1 ≤ Δ�

�
�� ��� ∀ω ∈ Bε ��	����
 |x(T + τ)|2 ≤ δ20 −
t∫
T

fΔ(xτ )dτ.

 ���
� lim
τ→∞

fΔ(xτ ) = 0� 	
�	
 |x(T + t)| < δ0 ��� ∀t > 0� �
 ��!���"�	�

!��!�����#� ��
���� � �
�������

������� �� ��� ��������	 
��� �
�� � ���������� 
����� ����������
���� �	����	��� ������������ ��	�����	 ��������
 x(t) ≡ 0 �����	 ���	 �� !
�" # ��������� �� ���������� �
�	�����	

F (t, x(t), k, l) ≤ −fΔ(xt) + β
[|x(t)|2 − |x(t−Δ)|2] , �$�

�
 ����
 ������
 �$ ��� β > 0 ��	� ���%������ �� ������� ������
��� �
�
�
��
�����&�
'
��� (
��)	����*

���������� %
�	
�#� ���
������ 	�
���� �� �
�
 �����	� &��
'�
���
��(����

z(t) = |x(t)|2 + β

t∫
t−Δ

|x(τ)|2dτ, β > 0.

 ����)��
� �
 ��
�� �$� ��� !��
	�"�
(
 ���	
������� ����* !����	���
�
 !���� "��	���� �
 !�����
� 
���)��	��� �
 
�����	�"�� &
��� ����
��

&��
��+ ������+ x(t), x(t−Δi), x(t−Δj)�
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dx(t) = [−a1x(t) + a2x(t−Δ)] dt+ b1x(t)dw(t) + c1x(t)

∫
U

g(u)ν̃(du, dt). �1�
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z(t) =
x2(t)

2
+ α

t∫
t−Δ

x2(τ)dτ, α > 0.

�
�� ����� F (t, x(t), k, l)� �����"���� �4�� ������ ��(����

F (t, x(t), x(t−Δ)) = −a1x2(t)− a2x(t)x(t−Δ) +

⎛⎝b21
2
+ c1

∫
U

g2(u)

u2
du

⎞⎠ x2(t)+

+αx2(t)− αx2(t−Δ) =

⎛⎝−a1 + α +
b1
2
+ c21

∫
U

g2(u)

u2
du

⎞⎠x2(t)−
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−a2x(t)x(t−Δ)− αx2(t−Δ).
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A =

(−a1 + α + b1
2
+ c21

∫
U

g2(u)
u2 du −a2

2

a2
2

−α

)
��
����� �
�������� �� �	���������� �
	������ �����������

−a1 + α +
b1
2
+ c21

∫
U

g2(u)

u2
du < 0;

−α
⎛⎝−a1 + α +

b1
2
+ c21

∫
U

g2(u)

u2
du

⎞⎠− a22
4

> 0.
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α

⎛⎝a1 − α− b1
2
− c21

∫
U

g2(u)

u2
du

⎞⎠ >
a22
4
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dx(t) = [ax(t) + bx(t− 1)] dt+ σx(t)dw(t) + x(t− 1)

∫
R1

c(u)ν̃(du, dt). &-.(
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2
[
ax(t) + bx(t− 1)

]
x(t) + σ2x2(t) + x2(t− 1)

∫
U

c2(u)Π(du) =

=
(
2a+ σ2

)
x2 + 2bx(t)x(t− 1) +

∫
U

c2(u)Π(du) · x2(t− 1) < 0.
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σ2 < −2a; (σ2 + 2a
) ∫
R1

c2(u)du > b2. �
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dx(t) = − [ax(t)− bx(t− h)] dt+ σx(t− h)dw(t)+
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+γ

∫
R1

x(t)c(u)ν̃(du, dt), h > 0. ����
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− (ax(t)− bx(t− h)) x(t) +
σ2

2
x2(t− h) + γ2

∫
R1

c(u)Π(du) · x2(t) =

⎛⎝−a+ γ2

∫
R1

c(u)Π(du)

⎞⎠x2(t)− bx(t)x(t− h) +
σ2

2
x2(t− h) < 0,
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−a+ γ2

∫
R1

c(u)Π(du) < 0,

⎛⎝−a+ γ2

∫
R1

c(u)Π(du)

⎞⎠ · σ2

2
> −b2. � ��)�
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